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QUESTION 1. Use Laplace and solve for y(t), where y@ — 6y’ + 9y = Ua(t)e*t=2),4(0) = 1,/(0) =
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QUESTION 2. Use Laplace and solve for y(t), where y' — 3y 83(t) + 4,y(0) = 0, Q=06 Z
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QUESTION 1. Solve for y(t), where y(t) = cos(t) + 2 f::nr' cos(t — r)y(r) dr S &S T

J?{(osm) 41%(&@(&«)\3(”&% = i{jm} S AT Y
N sy = 1_5__ t 1&{@;(0 *jfﬂ} ¢ _ foIOS(HH /([ j(UB
}

= = . \¢s) i
\if‘:‘l - _S_*ZE-E- -\{fﬁ’)‘ﬁ g+ ¥ |
<%y <2, %_____., /
- 4.5
\{(55 N sy
sZr
e e
Nol 1 - 2
< ¢l

QUESTION 2. Solve for z(t) and y(t)
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JUESTION 1. Given t%y"” +2ty’ =1, ¢t > 0. Find the general solution for y(t)
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QUESTION 1. Giver\(}; f —é =ety? t > 0. Find the general solution for y(t)
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QUESTION 2. Find the gencral solution to :
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QUESTION 1. Given g_y = 6(12;__11) y= Ry °Nf eX
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QUESTION 2. Imagine: A tank has a capacity of 700 gallons. Initially it contains 250 gallons of brine (water and
salt) that contains 10 g of salt (i.e., A(0) = 10). A solution containing 2g of salt per gallon is pumped into the tank

at rate 3 gallon/min. and the solution is pumped out at rate 2 gallons per min. Find the amount of salt at any time ¢
Find the concentration of salt () at anytime ¢.
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